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(2) Domain
(b) Domain
(c) Domain
(d) Domain
(e) Domain
(f) Domain

Precalculus — Worksheet 2 KEY

Worksheet 2 KEY — Graphs of Functions (83.3)

:{—4,-3,-2,-1,0,1}, Range: {—1,0,1,2,3,4}, Not a function
: R, Range: R, Is a function

: [2, ), Range: [0, ), Is a function

: [—2, ), Range: (—, 3], Is a function

: [-5,4), Range: [—4,4), Is a function

:{x:x < —1orx = 1}, Range: R, Not a function
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(@) {x:x + —6,2}
(b) R

(c) (=6,—4)u (—-1,2) U (2,6)
(d) (o0, =6) U (=4, —1) U (4, )

(e) (—4,2) and (6,3)
(f) (=1,-3)

(@) R

(b) R

(€) (=0,2) U (5, )
(d) (2,5)

(e) (2,4)

) 6,-2)

@ R
(b) R

(C) (—OO, _3) U (1; OO)

(d) (=3,1)
(e) (=3,5)
f 1,-3)

(@) [-5,3]

(b) [—5,4]

(C) (—5, _3) Y (0'2)
(d) (=3,0) U (2,3)
(e) (—3,4) and (2,3)
(f) (0,-1)

(@) [-4.4]

(b) [-5,5)

() (=2,2)

(d) (-4,-2) v (24)
(e) None

(f) (-2,-5), (2,3)
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@ f(=5)=0
(h) f(-1) =-3
(i) Negative

(J) Positive

(k) Positive

9 g9(2) =4
(hg(=1)=0
Hx=-146

(J) Positive

(K) (—=1,4) U (6, )
(I) (=, —1] U [4,6]

(@ h(-1) =1
(h)x = -3,5
(i) Negative
(J) Negative
(k) Positive

Q) f(=2)=2
h)fB)=1
(i) x = —4,—1,1
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(j) Abs max is 4. Abs min is —5.

(k) [-4,—-1] U [1,3]
() [-5 —4]u[-11]

9 9(2) =3
(h) x = —4,04
(i) Negative

(j) No abs max. Abs min is —5.

(k) [0,4]
(1) [-4.,0]



